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£ Al 15,950,513 15,190,000 760,513

200 M2l 1,000,513 0 1,000,513

220 SAENIRA= 1,000,513 0 1,000,513

222 A= 1,000,513 0 1,000,513

222-01 =MIHY0 = 1,000,513 0 1,000,513

< J1=0latA > 1,000,513 0 1,000,513

O=AMIH 2= 1,000,513 0 1,000,513

400 DL ILNFLES 14,950,000 15,190,000 240,000

420 HEEES 14,950,000 15,190,000 A240,000

421 MEENZ3 14,950,000 15,190,000 A240,000

421-01 MBEXZ 14,950,000 15,190,000 240,000

< JI=0late > 14,950,000 15,190,000 A240,000

OJEXNSAXZALN HEEHS 23,000,000, 0002 *65% 14,950,000 15,190,000 240,000
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